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Tnpsc group I / ii preliminary  
WEEKLY TEST 2 – MONTH OF AUGUST 

BATCH V & KAMARAJAR BATCH 
 

1. National Science Day is celebrated on 
a. February 28   b. March 3   c. March 14 
d. February 24   e. Answer not known 
Njrpa mwptpay; jpdk; nfhz;lhlg;gLk; ehs; 
a. gpg;uthp 28   b. khh;r; 3    c. khh;r; 14 
d. gpg;uthp 24   e. tpil njhpatpy;iy 
 

2. India launched Young Professional Scheme in partnership with 
a. France    b. Bangladesh   c. Russia 
d. United Kingdom  e. Answer not known 
ve;j ehl;Lld; ,ize;J> ,e;jpah ,sk; ty;Yeh;fs; jpl;lj;ij 
mwpKfg;gLj;jpAs;sJ? 
a. gpuhd;];   b. tq;fhsNjrk;  c. u~;ah 
d. If;fpa NguuR  e. tpil njhpatpy;iy 
 

3. Consider the following 
Assertion (A): McMohan line is the International boundary between 
India and China 
Reason (R): India rejects the claim of McMohan Line 
a. Both A and R are true and R is the correct explanation of A 
b. Both A and R are true but R is not the correct explanation of A 
c. Both A and R are false 
d. A is true but R is false 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nkf; kN`hd; NfhL vd;gJ ,e;jpah kw;Wk; rPdhtpw;F 
,ilapyhd rh;tNjr vy;iyahFk;. 
fhuzk; (R): ,e;jpah ,e;j nkf; kN`hd; Nfhl;bd; vy;iyia 
Vw;Wf;nfhs;stpy;iy 
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a. A kw;Wk; R ,uz;Lk; rhp NkYk; R, A tpw;F rhpahd tpsf;fkhFk; 
b. A kw;Wk; R ,uz;Lk; rhp Mdhy; R, A tpw;F rhpahd tpsf;fky;y 
c. A kw;Wk; R ,uz;Lk; jtW 
d. A rhp Mdhy; R jtW 
e. tpil njhpatpy;iy 
 

4. Australia based Deakin and Wollongong universities will establish 
campuses in India in 
a. Chennai  b. Gandhinagar   c. Bhopal 
d. Guwahati  e. Answer not known 
M];jpNuypahitr; rhh;e;j Bf;fpd; kw;Wk; NthNyhq;Nfhq; 
gy;fiyf;fofq;fs; ,e;jpahtpy; tshfk; mikf;fTs;s ,lk; 
a. nrd;id  b. fhe;jpefh;    c. Nghghy; 
d. Ft`hj;jp  e. tpil njhpatpy;iy 
 

5. India and Maldives conducted their 4th Defence Cooperation dialogue 
in 
a. New Delhi  b. Bali    c. Male 
d. Lakshadweep e. Answer not known 
,e;jpah-khyj;jPTfs; 4tJ ghJfhg;G xj;Jiog;G Ngr;Rthh;j;ij 
eilngw;w ,lk; 
a. GJ nly;yp  b. ghyp    c. khNy 
d. ,yl;rj;jPTfs; e. tpil njhpatpy;iy 
 

6. 7th International Dharma – Dhamma Conference tooks place in 
a. Colombo  b. Patna    c. Bhopal 
d. Bodh Gaya  e. Answer not known 
7tJ rh;tNjr jh;k jk;kh khehL eilngw;w ,lk; 
a. nfhOk;G  b. ghl;dh    c. Nghghy; 
d. Gj;j fia  e. tpil njhpatpy;iy 
 

7. Consider the following statements 
1. Global millets conference was held at Pusa 
2. 2023 is declared as the International Year of Millets 
Which of the above statements is/are correct? 
a. 1 only   b. 2 only    c. Both 1 and 2 
d. Neither 1 nor 2 e. Answer not known 
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gpd;tUk; $w;Wfis Ma;f 
1. cyfshtpa rpWjhdpaq;fs; khehL g+rhtpy; eilngw;wJ 
2. 2023Mk; Mz;L rh;tNjr rpW jhdpa Mz;lhf mwptpf;fg;gl;Ls;sJ 
Nkw;fz;l $w;Wfspy; rhpahdJ vJ / vit? 
a. 1 kl;Lk;    b. 2 kl;Lk; c. 1 kw;Wk; 2 ,uz;Lk; 
d. 1 kw;Wk; 2 ,uz;Lky;iy e. tpil njhpatpy;iy 
 

8. Umagine chennai is the Asia’s largest summit on 
a. Financial Technology    b. Photography 
c. Technology and Innovation  d. Automobile Engineering 
e. Answer not known 
ckh[pd; nrd;id vd;gJ Mrpahtpd; kpfg;nghpa ______ cr;rp khehL  

a. epjp njhopy;El;gk;    b. Gifg;glf;fiy 
c. njhopy;El;gk; kw;Wk; fz;Lgpbg;G  d. thfdg; nghwpapay; 
e. tpil njhpatpy;iy 
 

9. Under ‘Project Himshakti’, Indian Army has signed a Rs.3000 crore 
contract with  
a. Bharat Electronics Limited b. Hindustan Aeronautics Limited 
c. ISRO     d. DRDO 
e. Answer not known 
`pk;rf;jp jpl;lj;jpd; fPo;> ,e;jpa ,uhZtk; ve;j mikg;Gld; &.3000 
Nfhb xg;ge;jj;jpy; ifnaOj;jpl;Ls;sJ? 
a. ghuj; vyf;l;uhdpf;]; ypkpnll;   
b. ,e;J];jhd; Vnuhdhbf;]; ypkpnll; 
c. ,];Nuh      
d. ghJfhg;G Muha;r;rp kw;Wk; tsh;r;rp mikg;G 
e. tpil njhpatpy;iy 
 

10. Match the following 
A. Shinyu Maitri  1. Gulf region 
B. Konkan 2023  2. Japan 
C. Express 2023  3. France 
D. FRINJEX 23   4. United Kingdom 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 1 4 3 2 
d. 4 2 1 3 
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e. Answer not known 
nghUj;Jf 
A. ~pd;A ikj;hp  1. tisFlh gFjp 
B. nfhq;fd; 2023  2. [g;ghd; 
C. vf;];gpu]; 2023  3. gpuhd;]; 
D. g;hpQ;nrf;]; 23  4. If;fpa NguuR 
 A B C D 
a. 2 1 4 3 
b. 2 4 1 3 
c. 1 4 3 2 
d. 4 2 1 3 
e. tpil njhpatpy;iy 

 
11. What percentage of 60 is 72?  

a. 80%  b. 120% c. 84%  d. 65%  e. Answer not known 
60 vd;gjpd; vj;jid rjtPjk; 72 Mf ,Uf;f KbAk;.  
a. 80%  b. 120% c. 84%  d. 65%  e. tpil njhpatpy;iy 

 
12. During aadi sale the price of shirt decreased from Rs. 90 to Rs. 50. 

What is the percentage of decrease?  
a. 40%   b. 44 5

9
%    c. 44 7

9
%   

d. 44 4
9

%  e. Answer not known  

Mbj; js;Sgb tpw;gidapd; NghJ xU rl;ilapd; tpiy &. 90 
ypUe;J & 50 Mff; Fiwe;jJ vdpy;> Fiwtpd; rjtPjk; vd;d?  
a. 40%   b. 44 5

9
%    c. 44 7

9
%   

d. 44 4
9

%  e. tpil njhpatpy;iy 

 
13. Fuel that is used in Jet air craft 

a. Petrol   b. Petroleum Gas  c. Kerosene   
d. Diesel   e. Answer not known 
n[l; Vh; tpkhdj;jpy; gad;gLj;Jk; vhpnghUs; 
a. ngl;Nuhy;   b. ngl;Nuhypa vhpthA   c. kz;nzz;nza;   
d. Bry;   e. tpil njhpatpy;iy 

 
14. The gas present in the pores of soft finely stratified sedimentary rock 

is  
a. Shale gas   b. Gobar gas   c. Water gas 
d. Oxygen gas   e. Answer not known 
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nkd;ikahd tz;ly; ghiw mLf;Ffspd; Jisfspy; cs;s thAtpd; 
ngah; vd;d? 
a. N~y; thA   b. Nfhgh; thA   c. ePh; thA 
d. Mf;rp[d; thA  e. tpil njhpatpy;iy 

 

15. LPG is a mixture of  
a. C6 H12 + C 6H6   b. C 4H 10+C3H8  c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4   e. Answer not known 
LPG (rikay; vhpthA) vd;gJ _______________ fyitahFk;. 
a. C6 H12 + C 6H6   b. C 4H 10+C 3H 8   c.  C 2H 4 +C 2H 2 

d. C 2H4 + CH4   e. tpil njhpatpy;iy 
 

16. The measurement which is used to measure the ignition delay of the 
fuel in diesel engine is  
a. Cetane number  b. Octane number  c. Calorific value 
d. Specific energy  e. Answer not known 
Bry; vQ;rpdpy; cs;s vhpnghUspd; gw;witg;G jhkjf; fhy msit 
msg;gjw;F cjTk; msT 
a. rPl;Nld; vz;   b. Mf;Nld; vz;  c. fNyhhp kjpg;G 
d. jd; Mw;wy;   e. tpil njhpatpy;iy 

 

17. According to Fluid – Mosaic model, plasma members is made of  
a. Cellulose and Hemicellulose   
b. Phospholipids & Hemicellulose 
c. Phospholipids & Intrinsic proteins  
d. Phospholipids & Intrinsic and extrinsic proteins 
e. Answer not known 
jput – nkhirf; khjphpapd; gb> gpsh];kh rt;thdJ _______ My; 
MdJ 
a. nry;YNyh]; kw;Wk; n`kpnry;YNyh];  
b. gh];Nghypgpl;Lfs; kw;Wk; n`kpnry;YNyh];   
c. gh];Nghypgpl;Lfs; kw;Wk; cs;shh;e;j Gujq;fs;  
d. gh];Nghypgpl;Lfs;> cs;shh;e;j Gujq;fs; kw;Wk; ntspg;Gwg; Gujq;fs;  
e. tpil njhpatpy;iy 

 

18. The reactions of glycolysis occurs in the  
a. Mitochondria and require the presence of oxygen 
b. Chloroplast and do not require the presence of oxygen 
c. Cytoplasm and do not require the presence of oxygen 
d. Peroxysomes and require the presence of oxygen 
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e. Answer not known 
fpisf;fhyp]p]; - tpidfs; eilngWtJ 
a. ikl;Nlhfhd;l;hpahtpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy; 
b. gRq;fzpfj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy;  
c. irl;Nlhgpshrj;jpy; kw;Wk; Mf;rp[d; Njitapy;yhj epiyapy; 
d. nguhf;rpN]hkpy; kw;Wk; Mf;rp[d; Njitg;gLk; epiyapy;  
e. tpil njhpatpy;iy 

 
19. Identify the correct pairing. 

a. Nucleoside - Nitrogen base + Phosphate  
b. Pyrimidines – Cytosine and Sugar 
c. Purines – Adenine and Guanine 
d. Nucleotide – Nucleoside + sugar  
e. Answer not known 
rhpahd ,iziaf; fz;Lgpb. 
a. epa+f;spNahirL - iel;u[d; fhuk; + gh];Ngl; 
b. gphpkpbd;fs; - irl;Nlhrpd; kw;Wk; rh;f;fiu 
c. gpa+hpd;fs;  - mbidd; kw;Wk; Fthidd; 
d. epa+f;spNahilL - epa+f;dpNahirL + rh;f;fiu 
e. tpil njhpatpy;iy 

 
20. Which of the following facts are correct about prokaryotic cells 

I. Prominent nucleus is absent 
II. Nucleolus is present 
III. Mitosis and meiosis cell divisions take place 
IV. Enveloped cell organelles are absent 
a. I and II are correct   b. I and IV are correct 
c. II and III are correct  d. III and IV are correct 
e. Answer not known 
gpd;tUk; GNuhNfhpNahl;L nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ  
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ  
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
a. I kw;Wk; II rhp   b. I kw;Wk; IV rhp 
c. II kw;Wk; III rhp   d. III kw;Wk; IV rhp 
e. tpil njhpatpy;iy 
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21. Quantum nature of light is not supported by the phenomenon of  

a.  Compton effect       
b. Photoelectric effect 
c. Emission and Absorption Spectrum  
d. Interference of light waves 
e.  Answer not known 
Xspapd; Fthz;lk; nfhs;if fPo;f;fhz;gtw;Ws; vj;jifa tpisit 
tpsf;fhJ? 
a. fhk;ld; tpisT       
b.  xspkpd; tpisT 
c. ckpo;T epwkhiy kw;Wk; cl;fth; epwkhiy  
d. xsp miyfspd; FWf;fPl;L tpisT 
e. tpil njhpatpy;iy 

 
22. A ray of light is incident normally on a glass surface of refractive 

index 1.5.  the angle of refraction is  
a. 30º b. 45º c. Zero  d. 60º e. Answer not known 
xsp tpyfy; vz; 1.5 cila fz;zhb gug;gpd; kPJ xspahdJ 
Fj;jhf tpOk; NghJ xsptpyfy; Nfhzk; 
a. 30º b. 45º c. Rop  d. 60º e. tpil njhpatpy;iy 

 
23. In an election between two candidates A and B, A received 60% of the 

total valid votes and won by 720 votes. If 10% of the total voters had 
not casted their votes and 20% votes declared invalid, then what was 
the total number of voters?  
a. 4800  b. 5500    c. 6000   
d. 5000  e. Answer not known 
Njh;jypy; cs;s ,U Ntl;ghsh;fs; KiwNa A, B; A vd;gth; nkhj;jk; 
gjpthd mjpy; nry;Ygbahd thf;Ffspy; 60% I A ngw;whh;. nkhj;jk; 
mth; 720 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngw;whh;. 10% thf;Ffs; 

gjpthftpy;iy. 20% thf;Ffs; nry;yhj thf;FfshFk;. vdpy;> nkhj;j 
thf;fhsh;fspd; vz;zpf;if  
a. 4800  b. 5500    c. 6000   
d. 5000  e. tpil njhpatpy;iy 

 
24. If As income is 20% less than B's income, then how much percent is B's 

income more than A's income   
a. 10% b. 15% c. 20% d. 25% e. Answer not known 
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A ,d; tUkhdk; B ,d; tUkhdj;jpy; 20% FiwT vdpy; B ,d; 
tUkhdk; A ,d; tUkhdj;ij tpl vj;jid rjtPjk; mjpfk;  
a. 10% b. 15% c. 20% d. 25% e. tpil njhpatpy;iy 

 
25. 15% of 40 is 2 more than 25% of a number. The number is 

a. 16  b. 40  c. 55  d. 60  e. Answer not known 
40y; 15% vd;gJ Xh; vz;zpd; 25% ia tpl 2 mjpfk; vdpy; 
mt;ntz; 
a. 16  b. 40  c. 55  d. 60  e. tpil njhpatpy;iy 

 
26. Match the following: 

A. Myopia     1. Bifocal lens  
B. Hyper Metropia     2. Cylindrical lens 
C. Presbyopia (above 45yrs of age) 3. Concave lens  
D. Astigamatism     4. Convex lens 
 A B C D  
a. 4 3 1 2  
b. 3 4 1 2  
c. 2 4 1 3  
d. 1 2 3 4  
e. Answer not known 
nghUj;Jf. 
A. mz;ikg;ghh;it    1. ,UFtpa tpy;iy 
B. J}ug;ghh;it     2. cUis tpy;iy 
C. %g;Gg;ghh;it (45 taJf;F Nky;) 3. Fop tpy;iy 
D. cUl;rpg;gpio    4. Ftp tpy;iy 

A B C D  
a. 4 3 1 2  
b. 3 4 1 2  
c. 2 4 1 3  
d. 1 2 3 4  
e. tpil njhpatpy;iy 

 
27. When the full moon is at the closest point (perigee) of its orbit to Earth 

it’s bigger and brighter look is called 
a. Lunar Eclipse  b. Blood Moon   c. Blue Moon  
d. Super Moon  e. Answer not known 
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ngsh;zkp epytpd; Rw;Wtl;lg;ghij G+kpf;F kpf mUfpy; ,Uf;Fk; 
nghOJ> kpfTk; nghpajhfTk; mjpf xsp cilajhfTk; njhptJ 
________ MFk;. 
a. re;jpu fpufzk;  b. rptg;G epyh   c. ePy epyh 
d. #g;gh; epyh   e. tpil njhpatpy;iy 

 
28. Which of the following planet rotates from East to West? 

a. Earth b. Jupiter c. Mars  d. Venus  e. Answer not known 
fPo;fhz;gtw;Ws; ve;j fpufk; fpof;fpypUe;J Nkw;F Nehf;fp Rw;Wk;? 
a. G+kp  b. tpahod;     c. nrt;tha;  
d. nts;sp  e. tpil njhpatpy;iy 

 
29. Kepler’s law of Area is a statement of the law of conservation of 

a. Energy   b. Angular momentum  c. Momentum 
d. All the above e. Answer not known 
nfg;shpd; gug;G tpjpahdJ ____ moptpd;ik tpjpapd; gb mikfpwJ. 
a. Mw;wy;    b. Nfhz ce;jk;   c. ce;jk; 
d. Nkw;fz;l midj;Jk;  e. tpil njhpatpy;iy 

 

30. Which tree was regarded as the tree of creation and knowledge during 
Indus Valley civilization? 
a. Pipal Tree   b. Mango Tree   c. Neem Tree  
d. Tamarind Tree  e. Answer not known 
ve;j kuk; ‘gilg;G’ kw;Wk; mwptpd; kukhf” rpe;J rkntsp ehfhPf 
fhyj;jpy; fUjg;gl;lJ?  
a. mur kuk;   b. khkuk;    c. Ntg;g kuk;  
d. Gspakuk;    e. tpil njhpatpy;;iy  

 

31. Match List I with List II 
 List I     List II 

A. Mohenjadaro  1. Measurement scale 
B. Harappa   2. Lord Shiva 
C. Trimukha Pose  3. Great Bath 
D. Bronze bar   4. D.R. Sahni    

  A B C D 
  a. 3  4  2 1 

b. 2 3 1 4 
c. 4 3 2 1 
d. 1  2  3 4 
e. Answer not known  



 

10 | Page PH: 044 - 24339436, 42867555, 9840226187 
 

gl;bay; I I gl;bay; II cld; nghUj;Jf 
gl;bay; I    gl;bay; II 
A. nkhfQ;rjhNuh  1. msit Kiw 
B. `ug;gh    2. rptd;  
C. jphpKfk;    3. ngUq;Fspay; 
D. ntz;fyf; Nfhy;  4. b.Mh;. r`hdp 
 A B C D 
a. 3 4 2 1 
b. 2 3 1 4 
c. 4 3 2 1 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
32. The main occupation of the people of the Indus valley civilization was 

a. Agriculture   b. Warfare   c. Hunting 
d. Fishing    e. Answer not known 
rpe;J rkntsp ehfhpf kf;fspd; Kjd;ikahd njhopy; vJ? 
a. tptrhak;   b. Nghh;j;njhopy;  c. Ntl;ilahLjy; 
d. kPd;gpb njhopy;  e. tpil njhpatpy;iy 

 
33. Match correctly the excavated things with the corresponding places: 

A. Copper  1. Khetri 
B. Gold   2. Kolar 
C. Lapis Lazuli  3. Badakhshan 
D. Cloth   4. Umma 
 A B C D 
a. 3 4 1 2  
b. 1 2 3 4  
c. 4 2 1 3 
d. 1 4 3 2 
e.  Answer not known 
mfo;thuha;r;rp nra;ag;gl;l nghUl;fisj; njhlh;Gila ,lq;fSld; 
rhpahfg; nghUj;jTk;. 
A. jhkpuk;    1. Nfj;hp 
B. jq;fk;    2. Nfhyhh; 
C. kzpf;fy;   3. gjf;~d; 
d. Jzp    4. ck;kh 
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 A B C D 
a. 3 4 1 2  
b. 1 2 3 4  
c. 4 2 1 3 
d. 1 4 3 2 
e. tpil njhpatpy;iy 

 
34. Which of the following was the Port City of Indus Valley Civilisation? 

a. Lothal    b. Harappa   c. Kalibangan 
d. Larkana   e. Answer not known 
gpd;tUtdtw;Ws; rpe;J rkntsp ehfhpfj;jpd; JiwKf efuk; vJ? 
a. Nyhj;jy;   b. `ug;gh    c. fspgq;fd; 
d. yh;fhdh   e. tpil njhpatpy;iy 

 
35. Match the following:   

A. USA Constitution  1. Removal of supieme court Judges 
B. Weimar constitution of 2. Suspension of Fundamental Rights  
     Germany     during Emergency 
      3. Single citizenship 
C. British constitution  4. Nomination of members to Rajya 
sabha 
D. Irish constitution 

           fPo;fz;ltw;iwg; nghUj;Jf:  
A. mnkhpf;f murpay; rhrdk;  1. cr;rePjpkd;w ePjpgjpfis 

gjtpapypUe;J ePf;Fk; Kiw     
B. n[h;kdpapd; nta;kh;    2. neUf;fb fhyj;jpy; mbg;gil  
     murpay; rhrdk;    chpikfis epWj;jpitj;jy;  
C. gphpl;B~; murpay; rhrdk;  3. xw;iw FbAhpik  
D. mah;yhe;J murpay; rhrdk; 4. ghuhSkd;wj;jpd; Nkyitf;F  

   cWg;gpdh;fs; epakdk;  
A     B  C D   

a.  l 2 3 4  
b.    2 4 3 1  
c.    3 1 4 2  
d.     4 3 2 1  
e.    Answer not known 
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36. The population of a village is 900. 15% of them are children, 40% of 
them are women. Then, the ratio of men: women : children is  
a. 9 : 7 : 4  b. 9 : 8 : 3    c. 7 :  9 : 4   
d. 8 : 9 : 3   e. Answer not known 
xU fpuhkj;jpy; cs;s nkhj;j kf;fs; njhif 900. mjpy; 15% 
Foe;ijfs;> 40% ngz;fs; vdpy; Mz;fs;> ngz;fs;> Foe;ijfspd; 
tpfpjk; vd;d?  
a. 9 : 7 : 4  b. 9 : 8 : 3    c. 7 :  9 : 4   
d. 8 : 9 : 3   e. tpil njhpatpy;iy 
 

37. If 15% of (A + B) = 25% of (A – B), then what percent of B is equal to A 
a. 10%   b. 60%    c. 200%  
d. 400%   e. Answer not known 
(A + B) – d; 15% = (A – B) d; 25% vdpy;> B-d; vj;jid rjtPjk; A 
– f;F rkk; 
a. 10%   b. 60%    c. 200%  
d. 400%   e. tpil njhpatpy;iy 

 
38. Mohenjadaro is situated in the district of  

a. Punjab  b. Larkhana   c. Bavalpur   
d. Gujarat  e. Answer not known 
nkhfQ;rjhNuh ve;j khtl;lj;jpy; cs;sJ? 
a. gQ;rhg;  b. yh;f;fhdh   c. ghty;G+h;  
d. F[uhj;  e. tpil njhpatpy;iy 

 
39. Which of the following are the limitations on the sovereignty of Indian 

Parliament? 
1. Fundamental Rights   2. Judicial Review 
3. Federalism     4. Written Constitution 
a. 1, 3 and 4  b. 1, 2 and 3   c. 1 and 2   
d. 1, 2, 3, and 4  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;stw;Ws; ,e;jpa ghuhSkd;wj;jpd; 
,iwahz;ikf;F cs;s tuk;Gfs; 
1. mbg;gil chpikfs;  2. ePjpg;Gzuha;T 
3. $l;lhl;rp    4. vOjg;gl;l murpayikg;G 
a. 1> 3 kw;Wk; 4  b. 1> 2 kw;Wk; 3   c. 1 kw;Wk; 2 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
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40. Which one of the following was not cultivated by the Harappan 
people? 
a. Barley   b. Wheat    c. Cotton 
d. Sugarcane  c. Answer not known 
`ug;gd; kf;fshy; gaphplg;glhj gaph; vJ? 
a. ghh;yp   b. NfhJik   c. gQ;R 
d. fUk;G   e. tpil njhpatpy;iy 

 
41. Which is the correct statement?  

I. Indian Constitution is a written one  
II. Indian Constitution consists of features of both flexibility and 

rigidity  
III. Indian Constitution established a secular state  
IV. Indian Constitution is against the federal system of government  
a. I only correct     b. II only correct  
c. I, II and IV only correct   d. I, II and III only correct  
e. Answer not known 
rhpahd tpiliaj; Njh;e;njL: 
I. ,e;jpa murpayikg;G xU vOjg;gl;l murpayikg;G  
II. ,e;jpa murpayikg;G nefpOk; kw;Wk; nefpoh ,ay;GilaJ 
III. ,e;jpa murpayikg;G kjrhh;gw;w ehl;bid Vw;gLj;jpAs;sJ 
IV. ,e;jpa murpayikg;G $l;lhl;rp Kiw muRf;F vjpuhdJ 
a. I kl;Lk; rhp    b. II kl;Lk; rhp  
c. I, II kw;Wk; IV kl;Lk; rhp d. I, II kw;WK; III kl;Lk; rhp 
e. tpil njhpatpy;iy 

 

42. The concept of judicial review was borrowed from  
a. USA   b. U.K    c. France   

d. Australia  e. Answer not known 
ePjp Gduha;T Kiw ngwg;gl;l ehL  
a. mnkhpf;fh  b. ,q;fpyhe;J   c. gpuhd;];  
d. M];jpNuypah e. tpil njhpatpy;iy 

 

43. Political system in India can transform from federal to to unitary 
during an emergency 
a. Without a formal amendment of the constitution 
b. With formal amendment of the constitution 
c. Only with the approval of the 2/3 of the States 
d. Only with the approval of both Parliament and State Legislatures 
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e. Answer not known 
neUf;fb epiyapy; ,e;jpa murpayikg;G $l;lhl;rpapypUe;J 
xw;iwahl;rpf;F khw 
a. ,e;jpa murpayikg;G rl;lj;jpUj;jk; Njitapy;iy 
b. Kiwahd murpayikg;G rl;lj;jpUj;jk; Njit 
c. 2 / 3 khepy muRfs; xj;Jf;nfhs;s Ntz;Lk; 
d. ghuhSkd;wk; kw;Wk; khepy rl;lkd;wq;fs; Nrh;e;J xj;Jf;nfhs;s 
Ntz;Lk;. 

e. tpil njhpatpy;iy 
 
44. Which is wealth of wealth? 

a. Wealth of property b. Wealth of Kindness 
c. Wealth of Listening d. Both b & c 
e. Answer not known 
nry;tj;Js; rpwe;j nry;tk; vJ? 
a. nghUl; nry;tk;  b. mUl;nry;tk;  c. nrtpr;nry;tk; 
d. b & c ,uz;Lk;  e. tpil njhpatpy;iy 
 

45. Consider the following 
Assertion (A): Those discharge their duty who perform austerities 
Reason (R): all others accomplish their own destruction, through the 
entanglement of the desire  
a. A and R are correct and R is the correct explanation of A 
b. A and R are correct and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A)  : jtk; nra;fpd;wtNu jkf;Fhpa flikfisr; 
nra;fpd;wth; Mth;.  
fhuzk; (R): jtk; nra;gth; my;yhj kw;wth; Mir tiyapy; 
mfg;gl;L tPz;Kaw;rp nra;fpd;wtNu.  
a. (A) kw;Wk; (R) rhp NkYk; (R) vd;gJ (A) f;F rhpahd tpsf;fkhFk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ (A)f;F rhpahd tpsf;fky;y 
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 
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46. _________ is better than the pouring forth of ghee etc., in a thousand 
sacrifices. 
a. Killing an animal and not eating its body 
b. Killing an animal and eating its body 
c. Eating the animal's body after it has lost its life without being bitten 
d. None of these 
e. Answer not known 
mtpg; nghUs;fisj; jPapy; nrhhpe;J Mapuk; Nfs;tpfs; nra;jiytpl 
ed;ikahdJ vJ? 
a. xU tpyq;fpd; capiug; Nghf;fp mJ epd;w Cid cz;zhik. 
b. xU tpyq;fpd; capiug; Nghf;fpagpd; mjd; Cid cz;Zjy;  
c. tpyq;fpid tijf;fhky; mjd; capiug; Nghf;fpagpd;G mjd; 

cliy cz;zy;  
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

47. All creatures will join their hands together, and worship him who 
has _________ 
a. One who does not kill a single life 
b. Occasionally a one-time meat eater 
c. One who always lives without eating meat 
d. a and c 
e. answer not known 
cyfj;jpy; cs;s vy;yh caph;fSk; ahiu if$g;gp tzq;Fk;?  
a. xUapiuAk; nfhy;yhky; ,Ug;gtid  
b. vg;nghOjhtJ xUKiw Gyhy; cz;Zfpd;wtid  
c. vg;nghOJk; Gyhy; cz;zhky; tho;fpd;wtid  
d. a kw;Wk; c  
e. tpil njhpatpy;iy 
 

48. What percentage of 2

7
is 1

35
 

a.2.5 % b. 5%  c. 10% d. 25% e. Answer not known 
1

35
 vd;gJ 2

7
y; vj;jid rjtpfpjk; 

a.2.5 % b. 5%  c. 10% d. 25% e. tpil njhpatpy;iy 
 

49. What percentage of a day is one hour and 45 minutes? 
a. 7.218%  b. 8.3%    c. 7.291%   
d. 8.24  e. Answer not known  
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xU kzp Neuk; 45 epkplq;fs; vd;gJ xU ehspy; vj;jid rjtPjk;? 
a. 7.218%  b. 8.3%    c. 7.291%   
d. 8.24  e. tpil njhpatpy;iy 
 

50. A total amount of Rs.1560 is to divided among A,B and C such that A 
gets 50% of what B gets and B gets 20% of what C gets. How much 
will each of them get? 
a. Rs.1100, Rs.240, Rs.220  b. Rs.160, Rs.200, Rs.1200  
c. Rs.1000, Rs.440, Rs.120  d. Rs.120, Rs.240, Rs.1200 
e. Answer not known 
&.1560 vd;gJ A, B kw;Wk; C f;F ,ilapy; gpupf;fg;gl Ntz;Lk;> A,  B 
- f;F fpilg;gjpy; 50% kw;Wk; B>  C - f;F fpilg;gjpy; 20% 
fpilf;Fk;. mtu;fs; xt;nthUtUk; vt;tsT ngWthu;fs;? 
a. Rs.1100, Rs.240, Rs.220  b. Rs.160, Rs.200, Rs.1200  
c. Rs.1000, Rs.440, Rs.120  d. Rs.120, Rs.240, Rs.1200 
e. tpil njhpatpy;iy 

 
 
 


